
Spotting Errors
for 

NDA/CDS/AFCAT
Directions: Each item in this section has a sentence with three parts labelled as (a)//, (b)// and (c)//. Read 
each sentence to find out whether there is any error in any part and indicate your response on the Answer 
Sheet against the corresponding letter, i.e., (a)// or (b)// or (c)//. If you find no error, your response should 
be indicated as (d).

DAY 12



Question 1
The recent amendments to the law (a) / aims to address the challenges 
(b) / faced by marginalized communities. (c) / No error (d).

Question 2
The Supreme Court, in its latest judgment, (a) / have clarified the position 
(b) / regarding the applicability of the law. (c) / No error (d).



Question 3
Efforts to improve bilateral relations (a) / between the two nations (b) /
has been initiated recently. (c) / No error (d).

Question 4
The committee 2019s report, which highlights (a) / key economic 
indicators, (b) / are being reviewed by the cabinet. (c) / No error (d).



Question 5
According to experts, the impact of the recent cyclone (a) / have been 
devastating, particularly in (b) / coastal regions of the country. (c) / No 
error (d).

Question 6
Neither the economic survey nor the budget documents (a) / provides 
sufficient clarity (b) / on the proposed reforms. (c) / No error (d).



Question 7
The new education policy aims to (a) / ensure every student acquires (b) /
adequate skills and knowledge. (c) / No error (d).

Question 8
The recent directive issued by the ministry (a) / mandates stricter 
compliance (b) / to environmental norms. (c) / No error (d).



Question 9
While the government 2019s measures to curb inflation (a) / is 
commendable, (b) / more efforts are needed to address unemployment. (c) /
No error (d).

Question 10
The rising number of road accidents (a) / have raised concerns (b) / about 
the effectiveness of traffic regulations. (c) / No error (d).



Question 11
The report highlights that the majority of women (a) / in rural areas (b) /
continues to face barriers in accessing healthcare. (c) / No error (d).

Question 12
The global economic slowdown has (a) / impacted developing countries 
severely, (b) / especially those reliant on exports. (c) / No error (d).



Question 13
The minister emphasized the importance of (a) / transparency and 
accountability in governance, (b) / which he described as a key pillars of 
democracy. (c) / No error (d).

Question 14
The UN report states that the percentage of malnourished children (a) / in 
the region have declined (b) / significantly over the past decade. (c) / No 
error (d).

Question 15
India’s 2019 digital payment ecosystem has evolved (a) / rapidly over the 
years, making (b) / it one of the largest globally. (c) / No error (d).



ANSWER 
WITH 

EXPLANATION



1. Answer: (b)
Explanation: The subject "amendments" is plural, so the correct 

verb is "aim," not "aims."

2. Answer: (b)
Explanation: The subject "Supreme Court" is singular, so the correct 

verb is "has clarified," not "have clarified."

3. Answer: (c)
Explanation: The subject "efforts" is plural, so the correct verb is 

"have been initiated," not "has been initiated."



4. Answer: (c)
Explanation: The subject "report" is singular, so the correct verb is 

"is being reviewed," not "are being reviewed."

5. Answer: (b)
Explanation: The subject "impact" is singular, so the correct verb is 

"has been devastating," not "have been devastating."

6. Answer: (b)
Explanation: The verb should agree with the closest subject, 

"documents," which is plural. The correct verb is 
"provide."



7. Answer: (d)
Explanation: The sentence is grammatically correct.

8. Answer: (c)
Explanation: The correct phrase is "compliance with," not 

"compliance to."

9. Answer: (b)
Explanation: The subject "measures" is plural, so the correct verb is 

"are commendable," not "is commendable."



10. Answer: (b)
Explanation: The subject "number" is singular, so the correct 

verb is "has raised," not "have raised."

11. Answer: (c)
Explanation: The subject "majority of women" is plural, so the 

correct verb is "continue," not "continues."

12. Answer: (d)
Explanation: The sentence is grammatically correct.



13. Answer: (c)
Explanation: The article "a" should be removed, as "pillars" is 

plural. The correct phrase is "key pillars of 
democracy."

14. Answer: (b)
Explanation: The subject "percentage" is singular, so the correct 

verb is "has declined," not "have declined."

15. Answer: (d)
Explanation: The sentence is grammatically correct.


